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- Méx Marks: 100
hoosmg ONE full question from each module.
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5 'T% b. For the Voltage d;\}lder bias circuit W&th R;=56KQ, R, =8 2KQ Rc = 6.8KQ, Rg = 1.5KQ.
Z3 i Zo and Ay if transistor u@ed has hg = 120, hie71:175K€ and hoe = 20pA/Y.
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5§ characteristics of JﬁET‘ Wlth neat dlagrams (10 Marks)
t%:i b. ’ guration showm,m’”Flg Q3(b) has Vgsq = -2V, Ipss = 10mA, Ipq =
£ o 5.6mA, Vp =8V, Y, = 40ps. Find Qu, 14, Zi, Zo and Ay.
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& Fig.Q3(b) (05 Marks)
C. With necessary equivalent circuit obtain the expression for Z;, Zo and Ay for self Bias
conﬁgurag&pn with Bypass capacitor of JFET. (05 Marks)
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(10 Marks)

(06 Marks)

£ Module—3w
5 a. Whatis M1ller effect” Derive expression for Miller capacitance for an amplifier. (08 Marks)

b. . ,fL 1, ,f and f for the glven FET amplifier circuit with
‘ Cy, =6pf, Cg -001;1 ; C =0.5uf, Cg —Zuf
Liss —81&%A V =4V, ;= {

C, =2pf, C,=4pf, cds =0. ?ﬁf

(12 Marks)
OR _ *

6 DenVe the express1ons m;, low ﬁequency‘*ﬁcut—offs for a voltage divider transistor with
%Rs and Ry. (08 Marks)

evice is 10000W at a%voltage of 1000V. The output power is S00W

‘i) power gain in dB i) voltage gain in dB.
(04 Marks)

W _The input power to

o

and the output 1mpe dance is 20Q. Fmd :

C.  For the givencircuit of transmtoﬁ"amphﬁer find f, ,f; andfy
ve = 36pf, Coc = 4pf, Cce = 1pf, CWl 6p, Cwo = 8pf, and r. = 15.76Q.

Ve 220V

Given rgp= ©
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Module-4

necessary feedback connections. (08 Marks)
b. With neat diagram and necessary expressmrx%bmaxplam tuned Hartely Oscillators. Using

trans1stor (06 Marks)
(06 Marks)

a. For a practical current series feedbmk cifcuit drive expression ot Avy, Zirand Zor. (08 Marks)

i) Wien bridge Oscillator
i) UJT Oscillator.

(12 Marks)

Module-5
a. Calculate the efficiency:of a transformer coupled class A amplifier for supply of 12V and
output of Vp, = 6V (05 Marks)

b. With neat dlagram cxplam the working of tranﬁfmmer coupled push — pull amplifier.
(08 Marks)

c. Describe w h block diagram the series type ot voltage regulator. (07 Marks)

a. Calculate the output voltage and ~the Zener current in “the regulator circuit given for
RL . 1kQ ’

R =220Q, V,= 12V, B=150

@ @FigQlo(a) § ) (05 Marks)
amphﬁer with block diagram and necessary waveforms.
07 Marks)

(08 Marks)

& 30f3




